B Bk [mEE |[mm |lmma | 0| TRIEE
X4 & 018138 |iL&H#* 01138 | &Y [<12.271
E& = 4 01B138|iI& M 01A 138 | RHE |<12.496
EATYRS 4 018138 |mAH#+ 018138 | i&E [<12483
TATA 4 01B138|iI& 01138 |FiaH |<12.496
K& & 018138 |/ &iEH | 01R13B |F#&HE |<12.383
<3dF & 01H13A|/N&iEH | 01R13E|FHE |<12477
ATHLA 4 01138 |/M&EHR | 01138 |FH&RHE |<12.486
FYRAIN)L 4 01B138|iI& M 01138 | e |<12.493
AH¥= & 01A 138 |mAH#+ 01138 |FirHE |<12.499
RTRIES & 01138 |[MEH 01138 |FiaH |<12.495
B4 A & 018138 |[EEH 01A13B [T [<12.497
<ALA & 01H 138 |+ 01138 |Fial [<12472
YFH43 % 018138 |+ 01A138 [T [<12415
BFOF 3 01 A 138 |+ 01138 | &t [<12.468
RoRY 3 01 A 138 L8+ 01A13B [FiH [<12.464
HAZFA & 01138 | L%+ 01138 gl |<12.499
HFHLS 4 018138 | L%+ 01138 |Ft&H |<12.486
JTIINTF & 01A138 (L% 01A138 | & |<12.498
RoALA & 01H 138 |R#EH+ 01A 138 |[F#aH [<12.462
RX* 3 01F 138 |KRiEH+ 01138 |FiaH |<12.484
ThLY & 01 H 138 | R+ 01A13B [T [<12.471
rotxAA & 01H 138 |KixEH+ 01138 | &t [<12.488
SXAHLA(ZOETF) & O1B13H |HEFiH+ | 01A138|FHiE [<12499
=2y % O1A13H [#HEFi+ | 01A138 (T [<12.498
A XHYT & 018138 (7% H 01138 & [<12.500
TAIUR % 01H 138 |71+ 01138 | el [<12.480
FHA & 01A138 |71+ 01138 | g [<12.460




B Bk [mEE |[mm |lmma | 0| TRIEE
THHhIR 3 O1R13R|FEFH | 01A13E|FEE |<12.496
<}<a % O1A13A|FEFH |01A1H|FEE |<12497
K@% 3 O1R13R|FEFH |01 A13E|FEE |<12477
FHF <3 £ O1A13A|FEFH |01 A1I3E|FEE |<12491
THIFALFF 3 O1R13R|FEFH | 01A13B|F#EE |<12.496
754 4 O1R13A|MEFH | 01AH|FEE |<12475
INNHLA (FA3H04) &£ O1TA13H [#FEFH | 01A13H |t [<12.499
2avYdAI5 & 01138 |mE i+ 01 13R|FiRE |<12.474
a74h & 01138 |mEH 01A13H |[FtRHE [<12.482
2aALA 4 01 R 138 | RiiH 0113 [T [<12.461
27y £ 01 A 138 [K#+ 01RA13A |F&H [<12.500
ErE 4 01 A 138 | Rt 0113 |[FtaH [<12.489
LALA & O1R13R |FEFH |01 A138|FH&E |<12488
ABFLA 4 O1RA13A|MEFH | 01A1IE|FEE |<12497
=R 3 O1R13R|FEFH | 01A13E|FEE |<12497
£S5 A & O1R13A|MEFH | 01A1H|FEE |<12.332
RILAH(ZAH) 3 O1TA13H [#FEFH | 01138 |t [<12.496
Y)Ah £ O1R13A|FMEFH |01A13H|F#EE |<12480
JEVHARAR & O1TA13H [#EFH | 01138 |t [<12.456
<7F3 % O1RA13A|FMEFH |01 A13E|F#HEE |<12491
>aJF 3 01R13A|FEFH |01 A138|F#EE |<12481
*7aw & O1RA13A |MEFH | 01A13E|FH#HEE |<12499
4453 & O1TA13H [#FEEFiH | 01A13H|F#H [<12414
YFEXLUALA & O1RA13A |MEFH |01 A13E|FHEE |<12498
A AT S £ O1A13B |#HEFH | 01138 |F&E [<12.500
DURTIAN 4 O1R13A|MEFH |01A1H|FEE |<12.466
ERVAA 3 O1TA13H [#FEFH | 0113 |t [<12.487
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